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SV ESzgedd 2
12 Attempt any SIX parts: F:QD q
Fxpress decinul as percentage: 0.22 l 0.22 ‘1" V ’Vubw ”'Jw (i)
Define direct proportion, —.ﬁ{‘ *-é}/)‘;':""”"-/v (1)
4 ' 4 y s wf ]
Express ratio in its simplest form: 75+ 4Y m«.ZO -C‘-UJ:JUV e (i)
Define Zakat, Write its rate. {1+ 1) {1+1) ‘-‘-f-@,"/&;b(w” ~§‘§~%}/J3’C (iv)
. - ) o P
Caloulate Zakat ot silver amounting to Rs. 300000, -gﬁ{')"’?ﬁ{u’iﬂﬂ%u 300000 —“f,’f"‘)d" .E"” (v)
Detfine profit. Write profit percent formula. {(1+1) (1+1) el s Y ~g§—fwi’/’js.{v (vi)
e P e s b Bl S (vil
Find CP when 8P = Rs. 672 and profit = 5% - 5% = Qbr sl £ 1,672 = ey fo g ales (VY
Defing marked price. How it is denoted? (1+1) (1+1) Y L"bbﬁ/’&d/)@” “gim »._J»‘/'Jw“’by@ﬂ (vii§)
Write the names of two major accounts. (I41) (1+1) ugf:f:.,//(‘:t f‘u‘?{f‘«__,y,, (ix)
12 Attempt any SIX parts: c‘;fd'; ﬂa‘f‘::.,(j/
&1124088 = Lo sy K LU 241 $ss 500000 M
Convert PK Rupees 500000 to Euro. Rate of Euro = RS,112.4088
e Snt g F I vin iy Eind 18000 dtumpeip i) ....»_mauﬁ)’ 16% sk ()
A sales tax of 16% is imposed on television. Ifthe marked price of telewsmn is.Rs. 18000 calculate the total
amount one has to pay if he purchases it.
,,:,.(Mfg d.fs{uuez,o/&uws% ~&-&-121400000 e st de bl i
The annualvalue of a flatis Rs. | 400000 Find the tax payab!e atarate of 16%.
Simplify: A8 +42 . - — : . Vs +32 s{/‘y {iv)
; Lol HCRL :
Solve: (azmc%)ﬁ (@2b3cd) _‘d:;gf' V)
Solve: wz £X+1J~w» | logy =2 g F (i)
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Part - IL, Attempt any THREE questions. Each question carries 08 marks.

e 11#\/“"’(.;{}‘ +%A,p,iﬂ‘\“\/3w7/;(...J) w3

I %= V5 42 then find the values of X +-}: and 3 +_,_},5_ :

Resobve into 1';%&:&31‘55: X° +6ax + Qaz ~16b% T %% pax 9t — 16b7 :a’é_wi‘/,a,?,fb:}? (;,')
Solve: v[; =64y =10 | 5 \f; ~6+y=0 :«.—,"fj:u? () L6
Simplify: “: bz s a? "";ﬁb'*;bz | | - zi%‘-b3 L +?exb.+ b* LA ()

a' - b at+bt o e G ab~b' ot bt

Solve by ce;m“spieiingsquafé method: X* =3 = 6x o PO &t S P d/ﬁ (o .7
f;‘iivcn.tﬁét Ax{é “.%] verify th&t " A3.¥-4-A_ +5F€n fgfgu.:f%‘;’ﬁ A m[lz w;_} /fl (&)

Solve using matrix inversion method: 3"‘ y =10 , =?.x-~i—-3y ¢, ’:{JL”I!/’&JGJP (JJY} -8
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] Mean Weighted mean e HiBaR w =-5" iscalled:
1 & ’
¢ S w
(1,0) (0,0) (0,1) (1,1) . . L lebsliy) 2
L The co-ordinates of origin are:
[ GO | oK s | et | prese ‘<Ol AUBUO =(AUB)UC| 5
Intersection of | De-Morgan's | Commufative P ‘
! sets lawg Jaw ASSOBIEIVE MW | 5 (g ) O =(AUB)UC s called:
I +6 +3 + 36 +9 eVl Aend -12 -3 4
# | G.M. between ~3 and -2 is: *1!
( i ra—
A~ R B 31 30 el it 06,21,27) 5 |
J Next term of 12, 16, 21, 27 is:
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( Part-1 9 4dan )

Attempt any SIX parts: FB D 'QL’: ' :g,{gf;l?.l{bdf

Define inverse proportion. ~5§£~.§_J/7JJ:G"!/$ (i)
Ifa:b=2:3, find the ratio of 6a : 5b S 6aisbinab=2:30 (i)

The price of 20 pens is Rs. 2000. What will be the price of 40.such pens? ?anﬂ:‘éafw‘l’ 40 d,l?un.f.L_uZOOO(b 20 (iii)

-5 44600000 FAS U Derbig e BUsdis Gy

Calculate Ushr on a rice crop produced by natural resomes amountmg to Rs. 600000.

Calcuate the amount of Zakat on an amount of Rs. 500000 A _ZJ:(!LV :C_/HJ(,Q_USOOOOO )
'y ;

-é(:l’ﬂ}!é)gef:‘q.,b%:wﬁ470fefu(fiéé_/flpbd Kried (Vi)

Find the cost price, if a fan is sold for Rs. 1470, to ggt @roﬂtof th of its cost price.
Find the selling price when MP = Rs. 2760 , di ?:%um =65%. 245 —u)"’”ld..u2760—¢.~; o}bnﬁé,’ﬁ"&;}o} (vii)

"thfbl ua’lfzi,[. :b{ -Lu‘[é‘u(u:"’wﬂ’z/fb'(ffzwul¢d.u750..,u’Z,J)/d..}‘{f (viii)

The marked price of a toy is Rs. 750 afid 2% discount is offered on cash payment. What cash payment one should
pay for the toy?

Define fixed account. g Sleset (v
Attempt any SIX parts: - g‘,‘fd’r‘?.'azc_af
Define current account. . -g‘f.aif."J_‘zf {74 @)
What is meant by tax? ‘ 7 "L:l/b(c_dg (ii)

-c{r)”gf@/c;@/({lﬁ%/dl _Ld_u3500 J&,pt.f (iii)

The price of a bicycle is Rs. 3500. Find sales tax at the rate of 16%.

yY(2xy)2 OyP2xy)2 . W O
Simplify and express with positive indices: i:’ngy_YS)* _z%_);_“ I&GJ.'V:J\:J:L/MJ’!_ -/'" @iv)
3 3
25y5 25y 5 -
Simplify:  —T T L
20y 4 20y4
Write in the decimal form: 0.525x1077 0.525x1077 Z’&Vdﬁ‘ﬁu@;l‘/l (vi)
Find the missing element of AP by the formula; a=2,2, =402, n=26 Ig{r)"‘/"’(}‘"tgAP c.up(fb/ (vii)

Find A.M. between x2 +x +1 and x% - x +1

_g{r}vmd‘?uyﬂzi x2 x4l sl x2 x4y (viid)
a=2,r=3 Sigpbd s s i)
Attempt any SIX parts: ;{‘f;’?fi:—éf

| S A% GiA=(2,3,5,7) wi U= 1,2,3,4567,81
fU={1,2,3,4,5,6,7,8} and A= {2,3,5,7} then find Ac

IfA=1{2,3,4,5} and B={2,4,6,8)} then find A_B -.érﬁ"’ A-B 71 B={2,4,6,8} u'A={2,3,4,5}ﬁ (i)

Find the 5th term of G.P in which: a=2,r=3

IfA={1,2,3,4} and B={7,8, 9, 10} then find AUB -érP AUB 3 B=(7,8,9, 10} . A={1,2,3, 40 i)

Write the coordinates of origin, &b (iv)

Represent the point B (3, 2) on the graph. . ‘éﬂw{glﬁ B(3,2)4 )
(k)
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Draw the figure with the help of following pomt:cﬁmze.:—grap s - Lzyfufuf/sl/b:/?ﬁdl/@w)L@b (vi)
A(7,2) B(-6,-3) C(5,3)

Find the mean: 4,6,7,4,8,9,7, 10 | 4,6,7,4,8,9,7,10 gLl (vii)

Find the median:  3,5,6, 8, 8,9, 10 3,5,6,8,8,9,10 gy (viii)

Find therange:  2,9,3,6,12,8 2,9,3,6,12,8 oo (i)

A 08 L oy felizlctirfe () iy aan
Part - 11, Attempt any THREE questions. Each question carries 08 marks.

o L L e Lol 205 G o Lot 00 Ut s P2 S on (1 (L)
A motor cycle covers 90km in 2 liters of petrol. In how many liters of petrol will it cover 225km.
(L Iun AN FG a1l NI g 1330000 A1 S b b D2 Pl (L)
'-g}_/r}’”.ﬂ?

The amount of a property left by a deceased person is to be distributed among his daughters
Rs. 330000. If he had left three daGghters only, what would be the share of each daughter?

#3.2:5 e LUl NG T 1200000 Ut SEE (L)
Distribute Rs. 200000 as a profit in a business-regarding three persons, if their shares are in the
ratio3 :2: 5.

~ZE i L ke I 1388 bt d LUl 12 0w 640 /1 (L)
If the simple profit on Rs. 640 for 12 years is Rs. 384 Find the rate of profit. '
S s B S 2 R _“érk”f/&f?)fc,z,/ﬂ 16% 41 95td_2,40000 =d § 22571 (L)1 (L)
Sgh e

If price of an air conditioner is Rs. 40000. Then workout the amount.of sales tax on it at the rate of
16%. Also calculate the price of air conditioner with sales tax.

4 . , T - A
Use logarithmic table and evaluate: §X3-142X(l'5)3 éiyé-”d-/dh’/’/&f{w (&)

Insert two G.Ms between | and 8

-&GL/;(_}/@)U_L{‘AL 8 sl 1 ()

JEE kI B=(7, 8, 15,12} A=(7,10, 13,14} - U={7,8,9,10, 11, 12, 13, 14}f: (o)

(ANB) = A°UB®
If U={7,8,9,10, 11,12, 13, 14} , A= (7,10, 13, 14} and B = {7, 8, 11, 12} then verify

(ANB)° = A°|UB®

Draw the line with the help of the given points: :él_lzd/l)/ﬂ:é/;lg/?/r..’v_}l/;@@di@p ()
A(0,-5), B(3,-2), C(3,0), D(6,7)
- 26 X=A+22 ¥ (o)
184,191, 172, 168, 187, 189, 196 186, 193, 195 :Z = aldofUt el X =+ 22 ¥ (¢

: . . } = 2D
Find the arithmetic mean from the following values using formula X = A+ En

184,191, 172, 168, 187, 189, 196 186, 193, 195

10-IX122-30000

-6

-9

o
T



